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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. The range of the following data is : 

12, 37, 13, 15, 45, 19, 23, 32, 34, 42 

(A) 33 

(B) 34 

(C) 35 

(D) 36 

2. Which of the following properties are 

true for intellectual property (IP)  ? 

(A) IP is intangible without any 

physical parameters. 

(B) IP encompasses the things which 

are creation of human mind 

(C) Photographs and architectural 

designs are covered under IP acts 

(D) All of the above 

3. India is signatory under the following 

IPR treaties : 

(A) TRIPS agreement 

(B) Convention on Biological 

Diversity (CBD)  

(C) Both (A) and (B) 

(D) None of the above 

4. Which of the following statements is 

NOT correct ? 

(A) Indian patent law does not specify 

the rigid protection of computer 

software. 

(B) Genetically altered micro-

organisms were patentable 

(C) Medical and surgical procedures 

are patentable 

(D) Microbiological processes and 

emanating products are patentable 

5. The degree of peakedness of a 

distribution is called as : 

(A) Arithmetic mean 

(B) Geometric mean 

(C) Kurtosis 

(D) Mode 

6. The hypothesis for possible rejection 

under the assumption that it is true is 

referred to as : 

(A) Null hypothesis 

(B) Alternate hypothesis 

(C) Zero hypothesis 

(D) Fixed hypothesis 

7. The statistical method which helps in 

estimating the unknown value of one 

variable from the known value of the 

related variable : 

(A) Correlation 

(B) F statistic 

(C) Chi-square 

(D) Regression 
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8. The main cause of non-sampling error 

is : 

(A) Vague definition of population 

(B) Improper definition of the variable 

(C) Errors in data processing 

(D) All of the above 

9. Identify incorrect statement : 

(A) Judgment sampling is useful in 

case sample size is very small 

(B) Random sampling would be more 

appropriate when the sample size is 

large 

(C) Stratified sampling is a method for 

heterogeneous population 

(D) Random sampling will produce 

biased sample 

10. The degree of correlation coefficient can 

be in the range of : 

(A) – 1 to + 1 

(B) 0 to + 1 

(C) – 1 to 0 

(D) Only + 1 

11. Which of the following claims can’t be 

patented ? 

(A) New vector or gene constructs 

(B) Wild type plant accession 

(C) Plants and animals tissue culture 

product 

(D) Antibodies or antigen binding 

fragments 

12. Which of the following is a feature of 

database ? 

(A) To deposit and store data 

(B) To retrieve data 

(C) To analyze and interpret data 

(D) All of the above 

13. EMBL is an example of : 

(A) Nucleotide database 

(B) Protein database 

(C) Lipid database 

(D) Carbohydrate database 

14. What is the size limitation for e-mail 

attachment ? 

(A) 25 MB 

(B) 250 MB 

(C) 500 MB 

(D) 1000 MB 

15. If you were interested in testing for a 

statistical relationship between spraying 

a plant growth promoter and number of 

pods in a population of 100 soybean 

plants (i. e : testing the null hypothesis of 

no difference in the proportions of 

treated and untreated samples), the 

correct statistical test is : 

(A) ANOVA 

(B) Chi-squared test 

(C) Paired t-test 

(D) Regression 
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16. In order to test the null hypothesis : 

(A) The p value shall be less than 0.05 

(B) The p value shall be greater than 

0.05 

(C) The p value shall be equal to 0.1 

(D) Cannot be detennined from the  

p value 

17. The standard deviation will : 

(A) Increase with the increase in 

sample size 

(B) Decrease with the increase in 

sample size 

(C) Doesn’t change with the increase in 

sample size 

(D) Sample size and standard deviation 

has no relation 

18. A survey was conducted on a random 

sample of 1,000 Baltimore residents. 

Residents were asked whether they have 

health insurance. 650 individuals 

surveyed said they do have health 

insurance and 350 said they do not have 

health insurance. A 95% CI for the 

proportion of Baltimore residents with 

health insurance is : 

(A) 60% to 75% 

(B) 32% to 38% . 

(C) 62% to 68% 

(D) 36% to 46% 

19. 200 hypertensive patients are randomized 

to either a diet program or an exercise 

program. (102 patients to diet program, 

98 patients to exercise program) blood 

pressure is measured on each patient both 

before the programs start and 3 months 

after the start of each program. The 

correct statistical procedure to determine 

whether or not the mean blood pressure 

change (after-before) was statistically 

significantly different for the two 

programs is : 

(A) Paired t-test 

(B) 2 sample unpaired t-test 

(C) Fisher’s exact test 

(D) None of the above 

20. The scores of 10 students are 75, 82, 90, 

92, 67, 95, 110, 80, 82, 86 : 

Find the mean for the data. 

(A) 83.6 

(B) 85.9 

(C) 836 

(D) 43 
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21. What is the class interval for classes  

20 – 30; 30 – 40; 40 – 50; 50 – 60 ? 

(A) 10 

(B) 20 

(C) 30 

(D) 40 

22. An event in the probability that will 

never be happened is called as : 

(A) Unsure event 

(B) Sure event 

(C) Possible event 

(D) Impossible event 

23. The square root of the variance is called 

as : 

(A) Standard deviation 

(B) Mean 

(C) Median 

(D) Mode 

24. The probability of team India to win a 

cricket match (p) is 0.7. What is the 

probability of losing (q)  : 

(A) 10% 

(B) 20% 

(C) 30% 

(D) 40% 

25. Correlation coefficient was formulated 

by : 

(A) Fisher 

(B) Karl Pearson 

(C) Murphy 

(D) Porway 

26. The man behind Indian statistical 

institute and national statistics day 

celebration : 

(A) C. R. Rao 

(B) P. C. Mahalanobis 

(C) R. R. Bahadur 

(D) R. C. Bose 

27. What is the current term of patents in 

India ? 

(A) 50 years 

(B) 40 years 

(C) 30 years 

(D) 20 years 

28. Most recent amendment of Indian Patent 

Act is in the year : 

(A) 2015 

(B) 2016 

(C) 2017 

(D) 2018 
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29. Identify the incorrect statement : 

(A) Patent protection is a territorial 

right and is effective only within 

the territory 

(B) An invention which claims 

anything contrary to natural laws 

can’t be patented 

(C) A method of agriculture or 

horticulture can be patentable 

(D) Topography of integrated circuits 

are not covered under patents 

30. Which of the following statements is true 

about the standard deviation ? 

(A) It is used to calculate confidence 

intervals 

(B) It is used to determine variability 

of a sample around a sample mean 

(C) It is used to display bimodal or 

skewed data 

(D) A large SD shows that individual 

data points are clustered closer to 

the mean 

31. Which of the following protects films 

and podcasts ? 

(A) Patents 

(B) Trademarks 

(C) Copyrights 

(D) Geographical indicators 

32. According to the Copyright Act of  

India, the creator of work will get 

protection : 

(A) Till 40 years after death 

(B) Till 50 years after death 

(C) Till 60 years after death 

(D) No protection after the death of the 

creator 

33. Which of the following is NOT an 

element of patentability according to 

Patents Acts ? 

(A) Novelty 

(B) Cost of production 

(C) Inventive step 

(D) Industrial applicability 
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34. Identify the geographical indicator : 

1. Mysore silk  (p) Odisha 

2. Pattachitra  (q) Kashmir 

3. Pashmina  (r) Rajasthan 

4. Blue pottery  (s) Karnataka 

(A) 1-s, 2-q, 3-r, 4-p 

(B) 1-s, 2-p, 3-q, 4-r 

(C) 1-q, 2-r, 3-p, 4-s 

(D) 1-q, 2-p, 3-s, 4-r 

35. Use of computer applications for  

analysis of biological data is referred  

as : 

(A) Biostatistics 

(B) Biophysics 

(C) Bioinformatis 

(D) Biomedical science 

36. Which of the following is an operating 

system ? 

(A) Windows 10 

(B) Linux 

(C) Unix 

(D) All of the above 

37. Identify a measure of central tendency : 

(A) Mode 

(B) ‘F’ statistic 

(C) ANOVA 

(D) Range 

38. Standard deviation is represented by : 

(A)    

(B)    

(C)     

(D)    

39. The correct relation between standard 

deviation and variance : 

(A) The square root of standard 

deviation is variance 

(B) The square of standard deviation is 

variance 

(C) Standard deviation and variance 

are same 

(D) Standard deviation and variance 

are not related to each other  
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40. Mark the correct expression for central 

tendency : 

(A) Typical value for a probability 

distribution 

(B) Central value for a probability 

distribution 

(C) Measure of central tendency 

(D) All of the above 

41. The scientist who formulated the 

standard deviation : 

(A) Fisher 

(B) Pearson 

(C) Karlsen 

(D) Mendel 

42. ‘F’ statistic is used to find out : 

(A) Correlation between two 

distributions 

(B) Significance of difference between 

two samples 

(C) Similarity index between 

populations 

(D) Not useful for biological data 

analysis 

43. The mode of the following distribution  

is : 

12 16 22 12 16 18 19 16 12  

(A) 12 

(B) 22 

(C) 16 

(D) 18 

44. A surgeon performed 400 kidney 

transplantations out of which 160 are 

successful. What is the probability of 

failure ? 

(A) 40 

(B) 50 

(C) 60 

(D) 70 

45. In a field experiment, the observed 

phenotypes were tested for significance 

of difference with the monohybrid ratio 

3 : 1. Upon chi-square test, the null 

hypothesis will be accepted if the 

calculated chi-square value is : 

(A) Greater than the table value 

(B) Less than the table value 

(C) Equal to table value 

(D) Can’t determine with table value 
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46. What is the most popular method of 

experimental design in working with 

replicates ? 

(A) Random block design 

(B) Latin square design 

(C) Incomplete block design 

(D) None of the above 

47. Find the median of the given  

distribution : 

5 8 16 22 9 12 15 18 14 

(A) 9 

(B) 14 

(C) 15 

(D) 16 

48. Sample mean is indicated using the 

symbol : 

(A) X 

(B)    

(C) X
2 

(D) X   

49. When two variables are independent of 

each other then we use : 

(A) Addition rule 

(B) Multiplication rule 

(C) Both (A) and (B) 

(D) None of the above 

50. Probability depends on : 

(A) Chance 

(B) Preference 

(C) Both (A) and (B) 

(D) None of the above 

51. The type of test used to find the 

statistical difference between samples is : 

(A) t-test 

(B) F-test 

(C) ANOVA 

(D) All of the above 

52. The test used to find difference between 

expected samples and observed samples : 

(A) F-test 

(B) ANOVA 

(C) Chi-square 

(D) t-test 
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53. The no. of outcomes in a binomial 

distribution is  : 

(A) 2 

(B) 3 

(C) 5 

(D) 1 

54. The command that is used to display all 

the files in MS-DOS is : 

(A) DIR 

(B) CLS 

(C) COPY 

(D) MOVE 

55. Population mean is indicated with : 

(A) B 

(B)    

(C)    

(D) X 

56. Which of the following is a Hardware 

device ? 

(A) Monitor 

(B) Bar code reader 

(C) Printer 

(D) All of the above 

57. Which of the following is a discrete 

probability distribution ? 

(A) Binomial 

(B) Bernoulli 

(C) Poisson 

(D) All of the above 

58. Significant test related to three samples  

is : 

(A) ANOVA 

(B) t-test 

(C) Chi-square 

(D) All of the above 

59. Which of the following is NOT an 

application of Chi square test ? 

(A) To test the goodness of fit 

(B) To test the detection of linkage 

(C) To test the significance of 

difference between samples 

(D) To test the independence of 

attributes 

60. Null hypothesis (H0) usually states that : 

(A) There is no difference between 

expected and observed values 

(B) There is a significant difference 

between observed and expected 

values 

(C) There is no relation between 

expected and observed values 

(D) There is an inverse relationship 

between expected and observed 

values 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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